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Q1- Cycle is generally measured:
a- High to low

b- Low to low 

c- High to High 

d- Either b or c
Q2- To determine the next lowest time frame for a series of cycle from the cycle currently observed you would probably apply the law of 

a- Synchronicity

b- Proportionality

c- Summation

d- Harmonicity

Q3- Which would be the most useful aspect of a cycle in studying the relationship between cycles of different lengths?
a- Phase

b- Period

c- Amplitude

d- None of the above

Q4- For a stock in which the primary cycle is up 

a- Trading cycles will show a left translation

b- Trading cycles will show a right translation

c- Trading cycle’s crests will coincide with alpha cycle crests

d- B and C
Q5- A complete Elliott wave cycle is made up of how many waves?
a- 5

b- 3

c- 8

d- 13
Q6- In a normal 5-wave Elliott impulse wave, which wave is usually expected to be the longest and most dynamic?
a- 3rd

b- 5th
c- 1st
d- 1 st but sometimes 3rd

Q7-According to Elliott Wave Theory, in which wave do technical patterns like triangles flags usually occur?
a- 3rd
b- 5th
c- 4th
d- 2nd
Q8- Which of the following would least likely be a continuation pattern?
a- Broadening formation

b- Inverse head and shoulders

c- Ascending triangle

d- Flag
Q9- Which of the following would NOT be considered a support level?

a- Previous high 

b- Previous low

c- Trading range

d- All the above are considered to be support levels
Q10- According to the Dow Theory, secondary corrections can be replaced by a
a- Flag

b- Line

c- Triangle

d- Wedge
Q11-Which of the would be the least important factor in determining the significance of a trend line? 
a- Duration

b- Distance from price

c- Number of times touched

d- Angle of ascent or descent

Q12- For a breakdown from a triangle to be considered valid it should occur no more than of the distance to the apex from the beginning of the pattern?
a- One -half

b- Two-thirds

c- Three-quarters

d- Five-sixths
Q13- What is indicated when Bollinger bands narrow?
a- A stock is ready for a rally

b- A stock is ready for a decline
c- A stock is ready for has increased 

d- A stock is ready has decreased
Q14- In the Dow Theory, the most important price is the

a- Open

b- High

c- Low

d- Close
Q15- Which is /are considered important in determining the validity of a trend break?
a- Time

b- Price 

c- Volume

d- All the above

Q16- Which of the following is NOT true about gaps?
a- Common gaps are of little or not forecasting value

b- Breakaway gaps usually come on heavy volume

c- Gaps are almost always filled

d- When exhaustion gaps are, it is often the sign of a trend reversal

Q17-Which best characterized continuation patterns?
a- There is sideways price action

b- They take a long time to form 

c- They usually represent long-term patterns

d- They signal the start of a new trend 

Q18- Which is NOT true of a buying climax?
a- prices fall sharply at first

b- Volume is very heavy 

c- The close is near the low end of the daily range

d- Price initially rise sharply
Q19- In order for a DOW Theory sell signal to be confirmed 

a- The Dow Jones Industrials (DJI) and the Dow Transports (DJT) must peak simultaneously

b- The DJI and DJT must fail to confirm at the highs

c- Both the DJI and DJT must break below an important intermediate term support level

d- B and
Q20- The Dow Theory uses only 

a- High prices

b- Low prices 

c- Closing prices 

d- All of the above

Q21- A company whose stock is in a well-established uptrend reports earnings slightly above consensus estimates. After an initial rally, the stock then ends lower on the day. This would probably be an example of

a- Investor ennui

b- Market discounting 

c- Unrealistic expectations 

d- A short- coming of fundamental analysis 

Q22- Point and figure charts probably least suited to 

a- Establishing targets

b- Identifying areas of accumulation or distribution

c- Identifying areas of support and resistance 

d- Identifying breakouts
Q23- In a doji candlestick

a- Supply exceeds demand

b- Demand exceeds supply

c- Supply and demand are in balance 

d- All the above

Q24- Which of the following is a Fibonacci ratio?

a- 50%

b- 75%

c- 33%

d- 66%

Q25-When using a moving average crossover system to generate buy/sell, a sell signal would be generated when 

a- The slower moving average falls below the faster average 

b- The slow rises above the fast 

c- The fast falls below the slow

d- Either a or c 

Q26-Moving averages are of least use in generating buy or sell signals in
a- A sideways trend

b- A moderately sloping uptrend

c- A steep downtrend

d- Not especially useful in any of them

Q27- A stock trades in arrange between 51 and for 10 days then moves higher. If you have been charting the stock with a 3 box reversal point and figure chart , with 2 points assigned per box, what would be the horizontal count be ?

a- 30 points

b- 10 points

c- 60 points 

d- There would be no count

Q28- Which of the following is usually associated with major market tops?

a- Triple tops

b- Ascending triangles

c- Broadening formations
d- All the above

Q29- On balance volume is useful as 

a- A coincident indicator

b- A divergence indicator 

c- A means of clarifying volume trends

d- All the above

Q30- Common filters used to confirm a trendline break include 

a- Penetration above/below the trendline by a set percentage 

b- A pre-defined period of time during which prices stay above/below the trendline
c- A close above/below the trendline 

d- All the above

Q31- The average length of a minor trend is 

a- Less than 3 weeks

b- A month or more

c- About 3 months

d- Under 6 months but more than a month

Q32- As a general rule, in rectangle, triangle, flag and pennant patterns, volume generally 

a- Increases as the pattern develops 

b- Decreases as the pattern develops

c- Stays constant as the pattern develops

d- Shows signs of accumulation
Q33- Which type of gap is least likely to be filled?
a- Common

b- Breakaway

c- Exhaustion

d- Runaway

Q34- Trends are more likely to persist than reverse 
a- True

b- False

Q35- One of the great strengths of technical analysis is its flexibility (can be applied to many different markets and time frames)

a- True

b- False

Q36- Trend lines should never be redrawn to accommodate an accelerating trend 

a- True

b- False

Q37- Which of the following is NOT an important use for an oscillator

a- Provides a trading signal in the direction of the price trend when it crosses zero

b- Provides a warning when the oscillator and price are diverging and the oscillator is at an extreme 

c- Provides a methods of evaluating the performance of a security relative to another security or index 

d- Determines when overbought and oversold conditions exit when the oscillator reaches an extreme reading near the upper or lower end of its boundaries

Q38- Which of the following percentage parameters is NOT a widely recognized percentage retracement?
a- 66%

b- 45%

c- 50%

d- 33%

e- None of the above
Q39- What is intermarket analysis?

a- Study of the interrelationships between the various independent financial markets

b- Study of the internals of the various financial markets

c- Study of the various international financial markets and how they influence each other

d- None of the above

Q40- Which is the normal condition of the relationship between the S&P 500 cash index and the S&P 500future contract?
a- Future trade at a discount to cash 

b- Cash trades at a discount to future

c- Futures and cash trade equal to each other 

d- There is no relationship, they are independent of each other
Q41- What is meant by fair value?
a- The premium of the S&P 500futures contract over the S&P 500 cash index, which changes throughout the trading day

b- The premium of the S&P 500 futures contract over the S&P 500 cash index , which remains constant throughout the trading day 

c- The premium of the S&P 500 cash index over the S&P 500futures contract , which changes through the trading day 

d- The premium of the S&P 500cash index over the S&P 500 futures   contract, which remains constant throughout the trading day 
Q42- What is program buying?
a- When the S&P 500 futures contracts is higher than its fair value with the S&P 500cash index, future contracts are sold and an underlying basket of stocks in the S&P 500 are bought 
b- When the S&P 500 cash index, both future contract and an underlying basket of stocks in the S&P 500 are bought

c- The systematic purchasing of an underlying basket of stocks in the S&P 500 whenever the S&P 500 cash index exceeds the S&P 500 futures contract

d- The systematic purchasing of an underlying basket of stocks in the S&P 500and S&P 500 futures contract whenever the S&P 500 cash index exceeds the S&P 500 futures contract
Q43- Which statement is accurate?

a- Program buying is bullish for stocks in the S&P 500, program selling is bearish for stocks in the S&P 500

b- Program buying is bearish for stocks in the S&P 500, program selling is bullish for stocks in the S&P 500
c- Program buying is bullish for S&P 500 futures, program selling is bearish for S&P 500 futures

d- Program buying is bullish for both S&P 500futures and stocks in the S&P 500, program selling is bearish for both S&P 500 futures and stocks in the S&P 500

Q44- Which is generally true (represent the concept of "leads")?
a- Commodities—Stocks—Bonds—US Dollar

b- Stocks—Commodities—US Dollar—Bonds

c- US Dollar—Commodities—Bonds—Stock
      
      
d- Bonds-- US Dollar—Stock—Commodities
Q45- How would you use relative strength analysis when comparing sectors?

a- Compare RSLs- the higher the number, the more bullish the sector

                      
b- Divide the price of one sector by another and compare

c- Divide the price of one sector by an industry benchmark and compare

d- We don’t compare sectors, we compare industry

Q46- To increase the sensitivity of a 5*3 point and figure chart, one would 

a- Increase the box sizes
b- Decrease the box size

c- Increase the number of boxes needed for a reversal 
d- Both a and c

e- None of the above

Q47-In point and figure charting, the ability to obtain price objective through use of the horizontal count is a principle advantage of the
a- One box reversal chart

b- Three box reversal chart

c- Five box reversal chart

d- All of the above

Q48- In what charting technique will trendline ONLY be drawn at 45 degree angles?

a- Bar chart 

b- Candlestick chart 

c- Swing charts

d- Simplified three box point and figure charts

Q49- The worlds oldest know stock market charting technigue is

a- Bar charts

b- Candlestick chart

c- Point and figure charts

d- Swing chart 

Q50- What pattern is found in point and figure charts?
a- Doji

b- Head and shoulders

c- Island reversal

d- All of the above

Q51- Using intraday 1*1 point and figure charts, which breakout is most significant?
a- A breakout from a 5 column congestion zone

b- A breakout from a 10 column congestion zone

c- A breakout from a 15 column congestion zone

d- The breakouts are of equal significance

Q52- You are updating point and figure charts. They are one box reversal charts with a $1 box size. The most recent posting is $40. The stock closed yesterday at $40.50. Today, the stock opened at $40.60, ran up to $40.95, and closed at the low for the day at $ 39.11. How many new posting will you be making on the chart to reflect today's trading?
a- 0

b- 1

c- 2

d- 3

Q53- You are updating point and figure charts. They are three box reversal charts with a $1 box size. The current column is an up column with a most recent posting is $40. The stock closed yesterday at $40.50. Today, the stock opened at $40.60, ran up to $41.95, before falling sharply to close at the low for the day at $ 39.11. How many new posting will you be making on the chart to reflect today's trading?
a- 0

b- 1

c- 2

d- 3

Q54- You are updating point and figure charts. They are three box reversal charts with a $1 box size. The current column is a down column with a most recent posting is $80.50. The stock closed yesterday at $80.50 today, the stock opened at $80.62, fell to $75.41, before rallying sharply to close at the high for the day at $86.11. What is the final posting for the day’s activity?
a- 75

b- 80

c- 86

d- 76

Q55- You are updating point and figure charts. They are 5*1 charts. The most recent posting is $75. The days trading begins at $75.55. A rally ensues that takes the stock up to the days high of $77.88. A declines set in for the rest of day and the stock closes at the low of $71.23. How many postings will you make on the chart?

a- 0

b- 1

c- 2

d- 7

Q56- Cycles are usually measured from

a- Crest to crest

b- Trough to trough
c- Wheel to Wheel

d- Curl to curl

Q57- 10 day cycles are best timed with

a- 5 day oscillators

b- The Bressart oscillators

c- 10 day oscillators

d- 20 day oscillators
Q58- Which of the following is NOT true 

a- Harmon city is the principle that cycles bottom the same time and Nationality is the principle that relates cycles by small whole numbers

b- Summation is the principle of cycle analysis that adds cycles together and Harmon city is the principle of cycles that relates cycle by small whole numbers.

c- Synchronicity is the principle of cycle that suggests that cycles bottom at the same time and Proportionality relates amplitude and cycles length 

d- The variation principle suggests that cycle are not hard and fast rules, and Nationality is the principle that cycle lengths apply in all markets .
Q59- The following is NOT common of reversal patterns 

a- The existence of a prior trend 

b- The larger the greater the subsequent move

c- Tops usually take longer to form than bottoms

d- The break of a major trendline

Q60- An inverse head and shoulders patterns is:
a- A topping pattern

B- Generally unreliable

c- Reversing pattern

d- A and b 

Q61- The maximum objective of reversal patterns is 

a- 50% retracement

B- 66% retracement

c- A derivative of .618 of the current price

d- 100% retracement

Q62- Which is/are the characteristic(s) of head and shoulder patterns

a- Volume is important

b- Volume is most important at tops 

c- Volume is most important at bottoms 
d- Volume should not be a factor 

    1- 1 and 2 

    2- 4

    3- 1

    4- 1

    5- 1 and 3

Q63- Of the major reversal patterns, the most common are 

a- Head and shoulders, "V" and saucers

b- Head and shoulders, double tops and bottoms

c- "V" triple tops and bottoms, and "fan"

d- Saucers, extended "V" and rectangles

Q64- Which is true of double tops

a- There are two identifiable peaks at very different price levels

b-Volume is lighter during the first peak

c- They often occur at market bottoms 

d- Height is often used as a measuring objective 

Q65- Of the following, which are NOT correct statements concerning reversal patterns?

a- The larger the pattern, generally the greater the subsequent move

b- Patterns occurring at tops generally take longer to build, while those occurring at bottoms generally complete more quickly 

c- Reversal patterns must have something to reverse from

d- Bottoms are usually more volatile than tops , therefore they require less time to build

       1- 2 and 4 

       2- 1 and 4 

       3- 1 and 3

       4- 3 and 4

Q66- In generally, valid double tops/bottoms have approximately how much time between their peaks/ through?

a- Less than 3 months

b- Not more than 3 months

c- At least a month 

d- Depends on the chart you are king at
Q67- The minimum price objective once a stock has completed a head and shoulders pattern is:

a- 100% of the previous trend 

 b- Derived using the Fibonacci Ratio

c- Equivalent to the distance between the head and neckline

d- Depends on the action of the accompanying volume

Q68- A continuation pattern is 

a- A pause in the prevailing trend

b- Usually a sideways price action 

c- Usually a near term or intermediate term pattern

d- All of the above 

e- A and B
Q69- A symmetrical triangle is

a- Also called a coil 

b- Usually a continuation pattern

c- A temporary pause in the exiting trend

d- All of the above 

e- B and C
Q70- The apex of a triangular pattern is 

a- A time limit for the pattern

b- A point that helps to time and measure the potency of the pattern

c- An important support or resistance level after the breakout occurs 

d- None of the above

e- All of the above

Q71- Volume should diminish during the price swings within a triangular pattern

a- True

b- False 

c- Sometimes

d- Only on the downside swings

Q72- The breakout from a triangle formation 

a- Should take place with a sharp increase in volume

b- Should take place between two-thirds to three –fourths of the   
c- Is a price level that immediately becomes support/resistance? 

d- A and C
e- All of the above 
Q73- The descending triangle is just a mirror image of the ascending triangle and is generally considered a       pattern  

a- Bullish

b- Bearish

c- Continuation
d- A and C
e- B and C
Q74- All of the following are true of flag and pennant patterns except

a-They are short term patterns completed in one to two weeks 

b-They are preceded by sharp and nearly straight line moves 

c-They are continuation patterns

d-They are characterized by a decrease of volume during the formation of the pattern

e- They are unreliable patterns

Q75- The measuring technique for most continuation patterns implies that a price objective from the breakout point is equal to the         of the pattern at its broadest point

a- Width

b- Height

c- None of the above

Q76- The reversal patterns that can also appear as a continuation pattern is

a- Saucer

b- Head and shoulder

c- Spike

d- Double top

Q77- Which best describes continuation patterns?
    a-They typically take longer to build 

    b- They typically signal the onset of anew trend 

    c- They are represented by sideways price action

    d- They precede long term moves

    e- Most are rare occurrences

Q78- Stock traders rely heavily on

a- 13 and 21 day moving averages

b- 50 and 200day moving  averages

c- 30 and 40 week moving averages

d- All of the above

e- B and C
Q79- The simple moving average 

a- Gives equal weight to each periods price 

b- Gives greater weight to the more recent price

c- Assigns greater weight to more recent data and includes all of the data in the life of the instrument

Q80- Channel breakout system works extremely well in

a- Trending markets

b- Non-trending markets

c- Daily and weekly charts and monthly charts

d- None of the above

e- A and C
Q81- The moving Average

a- Anticipates price movement

b- Follows the trend 

c- Is a smoothing device 

d- Lags market action

e- B ,C , and D 

Q82- The “double crossover method “refers to 

a- Buying the same security high and selling it low twice in the same day

b- Taking the buy\ sell recommendation of a fundamental analyst 

c- A buy or sell signal generated when a shorter moving average crosses a longer moving average 

d- A and b

Q83- The most commonly used price to calculate the moving average is the 

a- High

b- Low

c- Midpoint

d- Close

e- Average of the high ,low &close
Q84-In a 10- day simple moving average, each day’s price is assigned a weighting of

a- 1 %

b- 5 %

c- 10 %

d- 20 %

Q85- Which moving Average (s) assign greater weight to the most recent data?
a- simple 

b- Weighted

c- Exponential

d- A and B
e- B and C
Q86- Longer term moving average 

a- Give fewer buy and sell signal

b- Are better at giving signals at major tops

c- “Give back” a  lot more when the trend reverses 

d- A and c

  Q87-A moving Average 

a- Is smoothing device

b- Enables the analyst to predict precise price targets 

c- Enables the analyst to predict precise time and price targets

d- All of the above 

  Q88-Shorter moving average 

a- Produce more trades 

b- Produce fewer whipsaws

c- A and B
d- None of the above

 Q89-To help confirm a price trend, volume should expand 

a- On a reversal day

b- On a strong close

c- In the direction of the trend

d- When a price target is met

  Q 90-Volume divergence occurs when 

a- volume expands while open interest contracts

b- volume expand while the daily trading range contracts

c- A new high in an uptrend takes place on declining volume

d- Volume declines during sideways congestion pattern

    Q91- On a head shoulder top, the “head” is typically made on

a- Active volume 

b- Light volume 

c- Breakout volume 

d- Normal volume

     Q92-On the decline from the “head” of the pattern on the neckline, volume should be 

a- More active than on the rally to the head

b- Average

c- Very similar to volume on the rally to the head 

d- Light

       Q93- Triangle price patterns should be accompanied by 

a- Active volume with in the pattern

b- Heavier volume in the direction of the eventual breakout

c- A gradual drop-off in volume until the breakout 

d- No discernable difference in volume until after the breakout occurs

        Q94- Technicians believe that 

a- Price precedes volume

b-  Volume precedes price

c- Volume and price are typically coincident indicators

d- Volume matters most during breakout

          Q95- A selling climax

a- Typically occurs at a market top

b- Typically occurs at a market bottom

c- Is accompanied by average to low volume 

d- Indicates new shorts getting trapped at the bottom

e- Indicates smart money bulls entering the market

          Q96-Open interest is

a- The sum of outstanding long and short positions at the end of the session

b- The sum of outstanding long or short position at the end of the position

c- The total number of contract traded during the session

d- None of the above

           Q97-A candlestick with equal opening and closing prices 

a- Neutral cloud

b- Spinning Top

c- Morning star

d- Doji

          Q98-The primary use of candlestick patterns is to 

a- Define the inter the mediate and short-term trends, but not the primary trend

b- Define the primary , intermediate, and short-term trends

c- Determine reversal points in the market

d- Determine whether you have bull market or a bear market

Q99-All the following are momentum oscillators except 

a- Advance\decline line

b- Relative Strength Index(RSI)

c- Stochastic
d- Moving Average convergence\ Divergence (MACD)

Q100-Which is an example of candle pattern filtering?
a- Accepting only those patterns that fit the strict definition of their patterns>

b- Accepting only those patterns that are confirmed by the intermediate trend 

c- Using oscillator to enhance a patterns predictive ability

d- Using trend lines to confirm the existence of pattern
          Q101- Which tools could you use in candle pattern filtering?

a- Stochastic ,MACD ,moving average , volume 

b- Williams %R, RSI , trend analysis , 3- box reversals 

c- CCI, MACD , RSI, ADX

d- Stochastic, MACD, RSI, Dow Theory

           Q102-In analyzing a stock using a daily chart, it is best to use 

a- A period of time between six to nine months

b- A period of time between twelve to fifteen months 

c- A period of time between sixteen to twenty months

d- A period of time between twenty-four months 

e- More than two years of data 

    Q103 -The limited life feature of he contracts poses some problems for futures traders      which stock traders do not face. This is due to

a-The very high volatility related to the futures markets, which results in a lot of whipsaw
b-The averages futures contracts has a trading life of  about bayear and a half only

c- Futures markets are normally more risky than equity markets

d-A and B
e-A, B and C
      Q104-Which of the following statement are correct?
a- The proper order to follow in chart analysis is to begin with the long    range and gradually work to the near term
b- Long-term charts are not meant for trading purposes

c- One of the techniques to link futures contracts together to provide continuity is done using the price of the nearest expiring contract

d- Triangles do not appear in long-term charts because of their very short-term nature

1- 1 only 

2- 1 and 2

3- 1,2and 3

4- 1, 2 and 4 

5- 1,2,3 and 4

     Q105 -The above NASDAQ monthly chart is showing a main downtrend. The month labeled (A) had an important impact on the ensuing decline. This formation corresponds to similar formation on the daily chart called

a- Key reversal day

            b- Inside day 

c- Double top

d- Outside day

e- None of the above 

    Q106-The chart below is a weekly chart of GAP. The closing price in the bar labeled A is the close of 

a. Friday close corresponding to the end of the week

b. Friday close corresponding to the end of the month

c. Closing price does not necessarily have to correspond to Friday
d. A and c

e. None of the 

Q107-Above is a monthly chart of Burlington Resources, where does main resistance lie?

 a- 45

 b- 48.5

 c- 53.5

 d- 45

 e- 35

Q108-Below is a monthly chart of Citigroup which shows 

 a-The trend is still up and no signs of weakness appeared

 b-The stock is at the end of a long-term downtrend

 c-No major trends appear on the chart yet

 d- The stock violated a main uptrend-line and is reversing

 e-The stock is still tracing higher lows and higher highs

Q109-The above chart shows Eli Lilly weekly from1995 till 2001. There are three trend lines labeled A, B and C. Which is true?
a- Line A reflect the long term uptrend, B reflects medium term uptrend while C reflects Short term uptrend 

b- Line A reflects the long term uptrend , while C reflects a shorter term down trend

c-The stock is still in its long term uptrend
d- All of the above

e- B and C only 

Q110-In the chart below, the area highlighted by the rectangle is

a-A head and shoulders top

b-A head and shoulders bottom 

c-A triple bottom

d-A double top

Q111-In the chart above, the reversal pattern is considered to have completed when 

a- Price closed above 24

b- Price moved above 17

c- Price closed above 17 

d -Price closed above 14

Q112-In the chart below, the reversal pattern is considered to have completed when 

a- Price closes below 20 

b- Price moves below 20 on heavy volume 

c- Price closes below 22

d- Price moves below 22 on heavy volume

Q113-In the chart above, the pattern above the dashed line is a

a- Spike top

b- Triple top 

c- Failed double bottom

e- Head and shoulders

Q114-In the chart below, what is the expected minimum price target after the pattern completes?
a- 76

b- 51

c- 26

d- 40

Q115-In the chart above, the pattern is said to have completed when price 

a- Closed below 40 on heavy volume

b- Closed above 40 on light volume 

c- Closed below 51- volume is important, but not critical

d- This is not a discernable pattern 

Q116-In the chart below, if the pattern tracing itself out between October and February completes, the expected minimum price objective is

a- 100% of the previous move

b- Approximately 1830

c- Approximately .618 times with width of the pattern

d- 33% 0f previous move

Q117-In the above chart, the pattern traced out in the circled area is 

a- Triple bottom

b- Double bottom 

c- Failed head and shoulders

d- Inverted head and shoulders 

Q118-In the above chart, of what importance is volume in the pattern traced out in the circled area?
a- Volume is important on continuation patterns but should be ignored on reversal patterns as they often confuse the picture

b- Volume is less important on bottoms as on tops 

c- Increasing volume on breakout from bottoms is an essential ingredient in spotting the completion of this type of pattern

d-Volume is easily manipulated and therefore should be ignored 

    e-A & B 

                 f- A& D
ملف رقم 1
اختبار المستوى الأول

1- يتم قياس الدورات السعرية بشكل عام
a) من أعلى سعر إلى أدنى سعر.
b) من أدنى سعر إلى أدنى سعر.
c) من أعلى سعر إلى أعلى سعر.
d) إما ( b ) أو ( c ).
2- لتحديد أقل إطار زمني تالي لسلسة من الدورات السعرية باستخدام الدورة السعرية  الملحوظة حالياً ، فعليك استخدام بشكل ملائم أدنى سعر للــــــ ................

a) التزامنية. 
b) النسبية. 
c) الجمع.
d) التوافقية.
3- ما هي أكثر السمات المفيدة للدورة السعرية عند دراسة العلاقة بين الدورات الزمنية المختلفة الأطوال ؟
a) مرحلة الدورة.
b) الفترة الزمنية للدورة.
c) اتساع الدورة .
d) لا شي مما سبق ذكره.
4- بالنسبة للسهم الذي ترتفع دورته السعرية الأولية للأعلى ...

a) سوف تظهر دورات التداول زاوية انحراف للجانب الأيسر.
b) سوف تظهر دورات التداول زاوية للجانب الأيمن.
c) سوف تتطابق قمم دورات التداول مع قمم الدورة الأولية.
d) كلا من ( b )  و  ( c ).
5- ما عدد الموجات التي تتكون من دورة موجة إليوت الكاملة؟

a) 5
b) 3
c) 8
d) 13
6- إذا كانت هناك موجة إليوت طبيعية تتكون من 5 موجات ، فما هي الموجة التي يكون من المتوقع أن تكون أكبر وأكثر نشاطاً؟

a) الثالثة
b) الخامسة
c) الاولى
d) الاولى وأحيانا الثالثة.
7- وفقاً لنظرية إليوت ، عادة من تتكون النماذج الفنية مثل المثلثات والأعلام في الموجة..

a) الثالثة
b) الخامسة
c) الرابعة
d) الثانية
8- أياً من النماذج التالية التي تقل احتمالية أن تكون نموذج استمراري؟

a) نموذج الاتساع 
b) نموذج الرأس والكتفين المنعكس
c) المثلث الصعودي
d) الأعلام
9- أيا مما يلي لا يكمن اعتباره مستوى الدعم؟

a) أعلى سعر سايق
b) أدنى سعر سابق
c) مدى التداول
d) كل ما سبق ذكره يمكن اعتباره كمستوى دعم
10-وفقا لنظرية داو ، من الممكن أن يحل محل التصحيحات الثانوية .

a) نموذج العلم
b) الخط
c) المثلث
d) نموذج الوتد
11-ايا مما يلي يعتبر عامل أقل أهمية في تحديد أهمية خط الاتجاه؟

a) الفترة الزمنية 
b) البعد عن السعر 
c) عدد المرات التي يلامسها السعر
d) زاوية الصعود أو زاوية الهبوط
12-حتى يتم اعتبار أن الاختراق للأعلى أو الاختراق للأسفل خروجاً عن نموذج المثلث هو اختراق صحيح، فلا بد ألا يكون هذا الاختراق في مكان يقع بعد ...... المســــافة من 

a) بداية المثلث وقمته
b) نصف 
c) ثلثي 
d) ثلاثة أرباع 
e) خمسة أسداس
   13 – ما لشيء الذي يشار إليه عندما تضيق خطوط البولنجر باند
a) السهم مستعد للارتفاع
b) السهم مستعد للانخفاض
c) سرعة تغير حركة السهم في تزايد
d) سرعة تغير حركة  السهم في تناقص
  14 – في نظرية داو، ما هو السعر الأكثر أهمية ؟

a) سعر الافتتاح
b) أعلى سعر 
c) أدنى سعر
d) سعر الاغلاق
15 – ما الشيء المهم عند تحديد صحة كسر اتجاه السعر؟

a) الزمن 
b) السعر 
c) حجم التداول 
d) كل ما سبق ذكره
16- ما هي الجملة غير الصحيحة عن الفجوات فيما يلي ؟ 

a) للفجوات العامة قيمة قليلة أو معدومة في التنبؤ بالحركة المستقبلية للسعر 
b) عادة ما يصحاب فجوة الانحراف عن الاتجاه العام كثافة في حجم التداول.
c) دائما ما يتمكن السعر من ملأ الفجوات
d) عندما يملأ السعر فجوة انخفاض السعر ، فإن هذه تكون غالباً إشارة بانعكاس الاتجاه .
17- ما هي أفضل سمات النماذج الاستمرارية؟

a) أن هناك حركة سعر جانبية فيها.
b) انها تستغرق وقت طويلاً لتكونها.
c) انها عادة ما تمثل النماذج طويلة المدى.
d) أنها تشير إلى بداية اتجاه جدبد.
18- ما الذي يعتبر مما يلي غير صحيحاً عن ذروة الشراء ؟

a) تنخفض الأسعار بحدة كبيرة في البداية 
b) يكون حجم التداول كثيفاً جداً.
c) يكون سعر الأغلاق بالقرب من الحد السفلي لمدى التداول اليومي 
d) ترتفع الأسعار في البداية بحدة.
19- حتى تكون إشارة إشارة البيع وفقا لنظرية داو إشارة مؤكدة..
a) لابد من وصول كلا من مؤشر داو جزنز الصناعي ومؤشر داو لوسائل النقل إلى القمة بشكل متزامن
b) لابد من أنخفاض كلاً من مؤشر داو جونز الصناعي ومؤشر داو لوسائل النقل للتأكد على أعلى المستويات
c) لابد أن يقوم كلا من مؤشر داو جونز الصناعي ومؤشر داو لوسائل النقل باختراق مستوى دعم هام متوسط المدى
d) كلاً من ( b ) و ( c ).
20- تستخدم نظرية داو فقط ...

a) أعلى سعر
b) أدنى سعر
c) أسعار الأغلاق
d) كل ما سبق ذكره
21- سجلت أرباح شركة ما لها سهم في البورصة يتجه في اتجاه صعودي جيد، ارتفاعاً يفوق التوقعات. وبعد الارتفاع السهم بعد الإعلان عن هذا الخبر ، أغلق هذا السهم اليوم بانخفاض. من الممكن أن يكون ذلك مثال ملائم لــــ

a) ملل المستثمر
b) تقليل السوق من أهمية الخبر
c) توقعات غير واقعية
d) عيب في التحليل الأساسي
22- يعتبر رسم point and figure ملائم بشكل أقل لـــ..

a) تحديد أهداف السعر 
b) تحديد مناطق التكدس ومناطق التوزيع
c) تحديد مناطق الدعم والمقاومة
d) تحديد الاختراقات
23- في شمعة " الدوجي " اليبانية..

a) يتغلب العرض على الطلب
b) يتغلب الطلب على العرض
c) يكون العرض والطلب في توازن
d) كل ما سبق ذكره
24- ما هي نسبة فيوناتشي ممايلي ؟

a) 50%
b) 75%
c) 33%
d) 66%
25- عند استخدام نظام قاطع منحيات المتوسطات المتحركة للحصول على إشارة شراء / بيع ، تظهر إشارة البيع عندما..

a) ينخفض المتوسط المتحرك الأبطاء تحت منحنى المتوسط المتحرك الأسرع
b) يرتفع المتوسط المتحرك الأبطاء فوق المتوسط المتحرك الأسرع 
c) ينخفض المتوسط المتحرك الأسرع تحت المتوسط المتحرك الأبطاء 
d) أيا من ( a ) أو ( c ).
26- يقل استخدام المتوسطات المتحركة في التحري عن اشارات الشراء أو البيع في ..

a) الاتجاه الجانبي.
b) الاتجاه الصعودي المنحدر باعتدال
c) الاتجاه الهبوطي الحاد
d) لا يكون استخدامها مفيدا في  أيا من الحالات السابق ذكرها
27- سهم ما أستمر تحركه داخل مدى التداول الواقع بين 51 و 55 لمدة عشر أيام ، ثم تحرك للأعلى بعد ذلك .إذا قمت برسم الرسم البياني  لهذا السهم من نوع point and figure  عن طريق رسم ثلاث مربعات ، مع رسم نقطتين للمربع الواحد ، فما عدد النقاط اللازم رسمها بشكل أفقي.

a) 30 نقطة 
b) 10 نقطة
c) 60 نقطة
d) لن يكون هناك عدد من النقاط أفقياً
28- ايا مما يلي يكون مرافقا عادة لقمم السوق الرئيسية
a) القمم الثلاثية
b) المثلثات الصعودية
c) النماذج العرضية
d) كل ما سبق ذكره
29-يكون مؤشر حجم التداول العام ( On Balance Volume  ) مفيدا كـــ
a) مؤشر تزامني 
b) مؤشر تباعد 
c) وسيلة لتحديد اتجاه حجم التداول.
d) كل ما سبق ذكره
30- تتضمن الفلترات الشائعة المستخدمة للتأكيد على اختراق خط الاتجاه ..

a) اختراق خط الاتجاه للأعلى أو للأسفل بنسة محددة
b) فترة زمنية محددة مسبقاً تبقى فيها الأسعار فوق أو تحت خط الاتجاه 
c) الأغلاق فوق أو تحت خط الاتجاه
d) كل ما سبق ذكره
31-يبلغ متوسط طول الاتجاه الصغير..

a) أقل من ثلاث أسابيع 
b) شهر أو اكثر 
c) حوالي ثلاث أشهر
d) أقل من ستة أشهر ولكن أكثر من شهر.
32-كقاعدة عامة ، يقوم حجم التداول بشكل عام في نماذج المستطيلات والمثلثات والأعلام والرايات بــــ
a) التزايد عند تطور النموذج 
b) التناقص عند تطور النموذج 
c) البقاء مستقراً عند تطور السعر
d) إظهار إشارات بالتراكم.
33-أي نوع من الفجوات السعرية التي تقل فيها احتمالية أن يملئها السعر بعد حدوثها

a) الفجوة الشائعة
b) فجوة الانحراف على الاتجاه  العام
c) فجوة انخفاض السعر
d) فجوة الحركة السعرية
34- تزيد احتمالية استمرار الاتجاهات أكثر من احتمالات انعكاسها.

a) صحيح
b) خاطئ
35- من أحد نقاط القوة التي يتميز بها التحليل الفني مرونته ( أي أنه يمكن تطبيقه على أسواق مختلفة وعلى إطارات زمنية مختلفة )

a) صحيح 
b) خاطئ
36- لا يجب أبداً إعادة رسم الخطوط الاتجاه لتتناسب مع تسارع الاتجاه

a) صحيح 
b) خاطئ
37- أيا ما يلي لا يعتبر استخدام هام لمؤشر التذبذب ( الاسكلاتور)؟

a) يعطي اشارة تداول في اتجاه السعر عند يتقاطع المؤشر مع الخط الصفري
b) يعطي اشارة تحذيرية عندما يتباعد منحنى مؤشر التذبذب ومنحنى السعر عن بعضهما البعض ، ويكون مؤشر التذبذب في منطقة الذروة.
c) يعطي طريقه لتقييم أداء الورقة المالية بالنسبة لورقة مالية أخرى أو مؤشر آخر.
d) يحدد متى تكون هناك وضع بذروة البيع أو ذروة الشراء ، وذلك عندما تصل قراءة المؤشر إلى الذروة بالقرب من الحد العلوي أو الحد السفلي له.
38- أيا من المعايير النسبية التالية التي لا يمكن اعتبارها نسبة تصحيحية بشكل كبير.

a) 66 %
b) 45 %
c) 50 %
d) 33 %
e) لاشي مما سبق ذكره
39- ما هو تحليل العلاقات التفاعلية بين الأسواق المالية؟

a) دراسة العلاقات التفاعلية بين عدة أسواق مالية مستقلة.
b) دراسة الأمور الداخلية لعدة أسواق مالية مختلفة
c) دراسة العديد من الأسواق المالية المختلفة وكيفية تأثيرها على بعضها البعض 
d) لاشي مما سبق ذكره
40- ما هو الطبيعي للعلاقة التي تربط بين مؤشر " ستاندرد آند بور 500" النقدي ، ومؤشر "ستاندرد آند 500" للعقود المستقبلية.

a) يكون تداول العقود المستقبلية مقصورا على النقد 
b) يكون تداول النقد محصوراً على العقود المستقبلية
c) يتساوى كلا من تداول العقود المستقبلية والتداول النقدي
d) لا توجد علاقة فيما بينهما ، وكلاً منهما مستقل عن الآخر
41- ما لمقصود بالقيمة العادلة ( Fair value )؟

42- ما هو برنامج الشراء ؟
a) عندما يكون مؤشر" ستاندرد آند بور 500" للعقود المستقبلية أعلى من القيمة العادلة له مع مؤشر " ستاندرد آند بور 500" النقدي، يتم بيع العقود المستقبلية وشراء مجموعة الأسهم الموجودة في مؤشر " ستاندرد آند بور 500"
b) عندما يكون مؤشر" ستاندرد آند بور 500" للعقود المستقبلية أعلى من القيمة العادلة له مع " ستاندرد آند بور 500"النقدي، يتم شراء كلا من العقود المستقبلية ومجموعة الأسهم  الموجودة في مؤشر" ستاندرد آند بور 500"
c) الشراء الآلي لمجموعة الأسهم في مؤشر" ستاندرد آند بور 500" وقتما يتمكن " ستاندرد آند بور 500" النقدي من تجاوز المؤشر" ستاندرد آند بور 500" للعقود المستقبلية
d) الشراء الآلي لمجموعة الأسهم في مؤشر" ستاندرد آند بور 500" النقدي ومؤشر" ستاندرد آند بور 500" للعقود المستقبلية وقتما يتمكن" ستاندرد آند بور 500" النقدي من تجاوز مؤشر  " ستاندرد آند بور 500".
43- أيا من الجمل التالية تعتبر جملة صحيحة ودقيقة؟

a) يعتبر الشراء المبرمج * ذو دلالة صعودية في مؤشر" ستاندرد آند بور 500" بينما يعتبر البيع المبرمج ذو دلالة هبوطية للأسهم في مؤشر " ستاندرد آند بور 500".
b) يعتبر الشراء المبرمج * ذو دلالة هبوطية في مؤشر" ستاندرد آند بور 500" بينما يعتبر البيع المبرمج ذو دلالة صعودية للأسهم في مؤشر " ستاندرد آند بور 500".
c) يعتبر الشراء المبرمج * ذو دلالة صعودية في مؤشر" ستاندرد آند بور 500" للعقود المستقبلية بينما يعتبر البيع المبرمج ذو دلالة هبوطية للأسهم في مؤشر " ستاندرد آند بور 500" للعقود المستقبلية.
d) يعتبر الشراء المبرمج * ذو دلالة صعودية لكلا من الأسهم  في مؤشر" ستاندرد آند بور 500" و" ستاندرد آند بور 500" للعقود المستقبلية بينما يعتبر البيع المبرمج ذو دلالة هبوطية للأسهم في كلا من أسهم مؤشر " ستاندرد آند بور 500" و" ستاندرد آند بور 500" للعقود المستقبلية .
44- اختر ما هو صحيح فيما يلي ( فيما يمثل مفهوم " القيادة")

a) السلع --- الأسهم ---- السندات ---- الدولار الأمريكي
الشراء المبرمج هو عبارة عن إستراتيجية يتم فيها تنفيذ مراجحة بشراء محفظة أسهم تتكون من سلة وبيع عقد مستقبلي واحد أو أكثر لنفس الأسهم التي تتكون منها المحفظة. وقد سميت بذلك لأنه يتم  تنفيذ هذه الاستراتيجيات بشكل آلي عندنا تتوفر معايير محدد.

وهذه الإستراتيجية مثير للجدل بين بعض الناس لأنها تتسبب في عدم استقرار السوق المالي وتكون سببا في تعرض الأسعار لحركات  عنيفة وقوية .
الأسهم ( السلع ( السلع ( الدولار الأمريكي ( السندات
الدولار الأمريكي ( السلع ( السندات ( الأسهم
السندات ( الدولار الأمريكي ( الأسهم ( السلع.
45-  كيف يمكنك استخدام مؤشر القوة النسبية عند المقارنة بين القطاعات في سوق الأسهم ؟
المقارنة بين مؤشرات القوة النسبية للقطاعات الخاضعة للمقارنة – ولكما ارتفعت قراءة المؤشر في قطاع ما كلما كان هذا القطاع يحمل دلالة صعودية أكثر.
قسمة سعر قطاع عل سعر قطاع آخر والمقارنة بينهما.
قسمة سعر قطاع على سعر القطاع الصناعي والمقارنة.
لا يمكننا المقارنة بين القطاعات ، ولكننا نقارن بين المجموعات الصناعية فقط.
46- حتى نزيد من حساسية رسم " point and figure " قياس 3 × 5 ، فإن علينا...
زيادة حجم المربع 
تقليل حجم المربع
زيادة عدد المربعات المطلوبة للإنعكاس.
كلاً من ( أ ) و ( جـ ).
لا شي مما سبق ذكره.
47- في رسم " point and figure " البياني، تعتبر القدرة على الحصول على أهداف السعر من خلال استخدام العد الأفقي ، ميزة أساسية لـ...
الرسم البياني الإنعكاسي لمربع واحد 
الرسم البياني الإنعكاسي لثلاث مربعات.
الرسم البياني الإنعكاسي لخمس مربعات.
كل ما سبق ذكره.
48- في أياً من الرسوم البيانية التالية يمكن رسم خط اتجاه بزاوية 45 درجة.
رسم الأعمدة البياني.
رسوم الشموع اليابانية البيانية.
الرسوم البيانية للتذبذب.
الرسوم البيانية " Point and figure " لثلاث مربعات.
49- من أقدم التقنيات المعروفة على مستوى العالم في رسم سوق الأسهم البياني
رسم الأعمدة البياني
رسوم الشموع اليابانية البيانية
رسوم " Point and figure " البيانية
رسوم التذبذب البياني
50- ما هو النموذج الذي من الممكن تكونه في رسم " Point and figure " البياني.
شمعة الدوجي.
نموذج الرأس والكتفين
نموذج الجزر الإنعكاسي
ناقص : الفقرة الرابعة من سؤال 58، وسؤال 59، وسؤال 60
52- تقوم الآن بتحديث رسم " Point and figure " البياني، وهناك رسم يتطلب ثلاث مربعات لعكس الإتجاه، ويبلغ حجم المربع $1 ، والعامود الحالي لديك يتجه السعر فيه للأعلى وينتهي هذا الإرتفاع عند 40$، وقد اغلق السهم يوم أمس عند 40.50 % . واليوم افتتح السهم عند مستوى 40.60$، وارتفع إلى 41.95. وذلك قبل أن ينخفض ليغلق عند أدنى سعر يومي عند 36.11$ . كم عدد العلامات التي عليك رسمها على الرسم البياني لتعكس تداول اليوم؟
أ) صفر.
ب) 1
ج ) 2
د ) 3
54- تقوم الأن بتحديث رسم " Point and figure " البياني. وهناك رسم يتطلب ثلاث مربعات لعكس الإتجاه، ويبلغ حجم المربع 1$ . والعامود الحالي لديك يتجه السعر فيه للأعلى وينتهي هذا الإرتفاع عند 80$ . وقد اغلق السهم يوم أمس عند 80.50% . واليوم افتتح السهم عند مستوى 80.62% وانخفض إلى 75.41$ وذلك قبل أن يرتفع بحدة ليغلق عند أعلى مستوى في اليوم عند 86.11$ ، أين ستكون آخر علامة لتداول اليوم؟
أ ) عند مستوى 75
ب ) مستوى 80.
ج ) مستوى 86
د ) مستوى 76
58- أياً من الجمل التالية غير صحيحة؟
أ ) التوافقية هو مبدأ يشير إلى أن القاع في الدورات الزمنية تتكون في نفس الوقت أما الأسمية فهي مبدأ يربط الدورات بالأرقام الصغيرة.
ب) الجمع هو مبدأ خاص بتحليل الدورات يقوم بجمع الدورات مع بعضها البعض ، والتوافقية هو مبدأ يربط الدورات بالأرقام الصغيرة.
ج ) التزامنية هو مبدأ خاص بالدورات يفيد بأن قاع الدورات تتكون في الوقت ذاته، والنسبة هو مبدأ يربط بين اتساع الدورة وطولها.
د ) يشير مبدأ التنوع إلى أن الدورات ليست قواعد صارمة وسريعة ، أما الأسمية فهو مبدأ يشير إلى ان اطوال الدورة يتم تطبيقها على جميع الأسواق.
59- ما يلي لا يعتبر شائعاً في النماذج الإنعكاسية:
أ) وجود اتجاه سابق.
ب ) كلما زاد حجم النموذج كلما زاد حجم الحركة التالية له.
ج ) دائماً ما يستغرق تكون القمم وقتاً اطول من تكون القيعان.
د ) اختراق خط الإتجاه الرئيسي.
60- يعتبر نموذج الرأس والكتفين المنعكس هو:
أ ) نموذج قمم.
ب ) لا يمكن الإعتماد عليه بشكل عام.
ج ) نموذج انعكاسي.
د ) كلاً من أ و ب.
61- الهدف الأقصى للسعر بعد خروجه من النموذج الإنعكاسي هو:
أ ) تصحيح بنسبة 50%
ب ) تصحيح بنسبة 66%
ج ) 0.618 من السعر الحالي.
د ) تصحيح بنسبة 100% 
62- أياً مما يلي يعتبر من سمات نموذج الرأس والكتفين.
1 ) حجم التداول عامل مهم.
2 ) حجم التداول أكثر اهمية عند القمم.
3 ) حجم التداول أكثر أهمية عند القيعان.
4 ) لا يعتبر حجم التداول عامل هام.
أ ) 1 و 2.
ب ) 4
ج ) 1
د ) 1 و 3.
63- من أكثر النماذج الإنعكاسية الهامة
أ ) الرأس والكتفين، ونموذج حرف V ، ونموذج الصحن.
ب ) الرأس والكتفين ، والقمم والقيعان الثنائية.
ج ) نموذج حرف V ، والقمم والقيعان الثلاثية، ونموذج المروحة.
د ) نموذج الصحن ، ونموذج حرف V الممتد والمستطيلات.
64- أياً مما يلي يعتبر صحيحاً عن القمم الثنائية؟
أ ) أن يكون هناك قمتين يمكن تحديدهما عن مستويات سعرية مختلفة.
ب ) يقل حجم التداول عند الإختراق الأول.
ج ) غالباً ما تكون عند القيعان.
د ) كلما ارتفعت كلما أمكن استخدامها كهدف قياسي.
65- أياً مما يلي غير صحيح عن الناذج الإنعكاسية؟
1 ) كلما كبر حجم النموذج كلما زادت الحركة التالية له.
2 ) يستغرق تكون النماذج عند القمم وقت أطول، بينما تكتمل النماذج في القيعان بسرعة أكبر.
3 ) لا بد أن يكون هناك اتجاه ما حتى يقوم النموذج الإنعكاسي بعكسه.
4 ) عادة ما يكون السعر أكثر سرعة في التغير عند القيعان من القمم، وبالتالي تستغرق القيعان وقت أقصر لتكونها.
a ) 2 و 4.
b ) 1 و 4.
c ) 1 و 3.
d ) 3 و 4.
66- بشكل عام ، ماهي الفترة الزمنية بشكل تقريبي التي تكون فيما بين القمم والقيعان عند تكون نموذج القمم الثنائية والقيعان الثنائية الصحيحة؟
أ) أقل من 3 أشهر.
ب ) ليس أكثر من 3 أشهر.
د ) يعتمد ذلك على الرسم البياني الذي تدرسه.
67- الحد الأدنى لهدف السعر حالما يكتمل نموذج الرأس والكتفين هو:
1) 100% من الحركة السابقة للنموذج.
2) يتم استنتاج ذلك بإستخاد نسيب فيبوناتشي.
3) يعادل ذلك المسافة بين الرأس وخط الرقبة.
4) يعتمد ذلك على حركة حجم التداول المرافقة له.
68-  النموذج الاستمراري هو:
أ) فترة توقف مؤقتة في الإتجاه السائد
ب) يمثل حركة جانبية لإتجاه السعر.
ج) يكون نموذج قريب المدى أو متوسط المدى.
د) كل ما سبق ذكره.
ه) أ و ب.
69- المثلث المتماثل هو:
ا) يسمى أيضاً بـ " اللولب"
ب) عادة ما يكون نموذج استمراري.
ج ) هو عبارة عن توقف مؤقت في الإتجاه القائم.
د ) كل ما سبق ذكره.
هـ ) ب و ج.
70- القمة في نموذج المثلث هي:
أ ) الحد الزمني للنموذج.
ب ) هي النقطة التي تقيس فعالية النموذج.
ج ) مستوى دعم أو مستوى مقاومة هام بعد حدوث الإختراق.
د ) لا شي مما سبق ذكره.
هـ ) كل ما سبق ذكره.
71- لا بد من انخفاض حجم التداول خلال موجات السعر داخل نموذج المثلث.
أ ) صحيح.
ب ) خاطئ.
ج ) أحياناً.
د ) في الموجات الهبوطية فقط.
72- الاختراق من نموذج المثلث والخروج منه...
أ ) لابد أن يتم مع تزايد كبير في حجم التداول.
ب ) لابد أن يكون عند مسافة تبعد بمقدار الثلثين أو الثلاثة أرباع من بداية النموذج.
ج ) هو عبارة مستوى سعري سرعان ما يصبح مستوى دعم أو مقاومة.
د ) كلاً من أ و ج.
هـ ) كل ما سبق ذكـره.
73- المثلث التنازلي هو عبارة عن صور عاكسة للمثلث التصاعدي ويعتبر نموذج ...
أ ) صعودي
ب ) هبوطي.
ج ) استمراري.
د ) كلاً من أ و ج.
هـ ) كلاً من ب و ج.
74- كل ما يلي يعتبر صحيح عن نموذج العلم ونموذج الرايات فيما عدا...
أ) أنها نماذج قصيرة المدى تكتمل في أسبوع أو اثنين.
ب ) يسبقها حركات حادة ومستقيمة.
ج ) تعتبر نموذج استمرارية.
د ) تعتبر نماذج لا يمكن الإعتماد عليها.
د ) تتميز بإنخفاض حجم التداول أثناء تكونها.
75- تدل تقنية القياس في أغلب النماذج الإستمرارية على أن هدف السعر من نقطة الإختراق يتساوى مع ..... النموذج في أوسع نقطة.
أ ) اتساع.
ب ) ارتفاع.
ج ) لا شيء مما سبق ذكره.
76- النموذج الانعكاسي الذي يمكن أن يظهر كنموذج استمراري أيضاً هو...
77- 

أ )يأخذون وقتا طويلا لبناء . 

ب) تشير إلى بداية اتجاه جديد . 

ج) تمثل بحركة السعر الجانية . 

د) تسبق حركات طويلة المدى . 

ه) معظمها نادر الظهور .

78- يعتمد المتاجرون في الأسهم بقوة على :

ا) المتوسطات المتحركة ل13 و21 يوم .

ب) المتوسطات المتحركة ل50 و 200 يوم . 

ج ) المتوسطات المتحركة ل 30 و 40 يوم . 

د) كل ما سبق . 

ه ) ب و ج 

79- المتوسط المتحرك البسيط  

ا) يعطى وزنا متساويا لكل سعر في الفترات المختلفة . 

ب) يعطى وزنا اكبر زيادة عن السعر الحالي . 

ج) إيجاد وزنا اكبر للبيانات الحالية تتضمن كافة البيانات الموجودة في حياة الأداة .

80- يعمل نظام كسر القناة جيدا في : 

ا) أسواق الاتجاهات . 

ب) أسواق دون اتجاهات . 

ج) الشارتات اليومية والأسبوعية والشهرية . 

د) لا شئ مما سبق . 

ه) ا و ج . 

81- المتوسط المتحرك  : 

ا ) يتوقع حركة السعر . 

ب) يتتبع الترند . 

ج) أداة سلسة . 

د) يتتع حركة السوق . 

ه ) ب وج ود . 

82- يشير نظام الانتقال المزدوج إلى : 

ا) شراء نفس الورقة المالية بسعر مرتفع وبيعها بسعر منخفض فى نفس اليوم . 

ب) اخذ توصيات البيع والشراء للتحليل الاساسى . 

ج) إنشاء إشارة بيع أو شراء عندما يقطع المتوسط المتحرك الأقصر المتوسط الأطول . 

د) ا وب . 

83 – السعر الأكثر استخداما لحساب المتوسط المتحرك هو : 

ا) الهاى . 

ب) اللو . 

ج) متوسط النقاط .

د) الإغلاق . 

ه ) معدل الهاى واللو والإغلاق . 

84-  في المتوسط المتحرك لمدة 10 أيام يحدد سعر كل يوم بوزن : 

ا) 1% . 

ب) 5% . 

ج) 10%. 

د) 20%. 

85- اى المتوسطات المتحركة يعين وزنا اكبر للبيانات الحالية : 

ا) البسيط . 

ب) الموزون . 

ج)
د) ا و ب . 

ه )  ب و ج . 

86- المتوسط المتحرك لمدة أطول : 

ا) يعطى إشارات يع وشراء اقل . 

ب ) يعتبر أفضل في إعطاء إشارات على القمم الكبرى . 

ج) يعطى إشارة تراجع اكبر عندما ينعكس الترند . 

د)ا وج . 

87 – المتوسط المتحرك : 

ا) أداة سلسة . 

ب) يمكن المحلل من التنبؤ بأهداف السعر المحتملة . 

ج) يمكن المحلل من التنبؤ بالزمن وأهداف السعر . 

د) كل ما سبق . 

88- المتوسط المتحرك الأقصر : 

ا) ينتج عمليات أكثر . 

ب) ينتج(كلمة ناقصة ) اقل . 

ج)   ا و ب. 

د) لا شئ مما سبق. 

89- للمساعدة في تأكيد اتجاه السعر يجب أن يمتد الحجم ليشمل : 

ا) يوم انعكاسي 

ب) إغلاق قوى . 

ج) في اتجاه الترند . 

د) عندما يتحقق هدف السعر . 

90- يظهر حجم الدايفرجنس عندما : 

ا) يزداد الحجم ينما تفتح عقود الفائدة . 

ب) يزداد الحجم عندما تزداد معدل التجارة اليومي . 

ج) يحدث ارتفاع جديد فى ترند صاعد لحجم هابط . 

د) ينخفض الحجم اثناء النموذج الانزلاقى الجانبى . 

91- فى قمة من راس وكتفين تعمل الراس على : 

ا) الحجم النشط . 

ب) الحجم المضئ .

ج) الحجم المكسور . 

د) الحجم المعتاد . 

92- عند الانحدار من الراس لنموزج خط العنق يجب ان يكون الحجم :

ا) اكثر نشاطا من الرالى للراس . 

ب) متوسط . 

ج) مشابه للحجم الموجود فى الرالى للراس . 

د) مضئ . 

93- يجب ان تكون نمازج المثلث السعرية مصحوبة  ب: 

ا) حجم نشط فى النموزج . 

ب) حجم اكبر فى اتجاه الانكسار النهائى . 

ج) السقوط التدريجى للحجم حتى الكسر .

د) لا توجد اختلافات فى الحجم حتى بعد ظهور الكسر . 

94- يعتقد الفنيون ان : 

ا) السعر يسبق الحجم . 

ب) الحجم يسبق السعر . 

ج) الحجم والسعر مشران متزامنان . 

د) يحدث الحجم اكثر اثناء الكسر . 

95- مناخ البيع هو : 

ا) يظهر بوضوح فى قمة السوق . 

ب) يظهر بوضوح فى قاع السوق . 

ج) يصحب بمتوةسط لحجم منخفض . 

د) يشير الى علامات تقصير جديدة تتكون فى القاع . 

ه) يشير الى دخول كبار اصحاب الاموال الى السوق . 

96- الفائدة المفتوحة هى : 

ا) مجمل المراكز القصيرة والطويلة فى نهاية الجلسة . 

ب) مجمل المراكز القصيرة والطويلة فى نهاية الصفقة .  

ج) الرقم الاجمالى للعقود التى تمت خلال الجلسة . 

د) لا شئ مما سبق . 

97- الشمعة التى تتضمن اسعار افتنتاح واغلاق متساوية : 

ا) سحاة محايدة . 

ب) قمة الدوران . 

ج) نجمة الصباح . 

د) الدوجى . 

98- الاستخدانم الاساسى لنمازج الشموع اليابانية فى : 

ا) تحديد الدخول والاتجاهات قصيرة المدى ولكن ليس الاتجاه الاساسى . 

ب) تحديد الاتجاهات الاساسية والمتوسطة وقصيرة المدى . 

ج) تحديد النقاط العكسية فى السوق . 

د) تحديد سواء كان السوق فى اتجاه يع او شراء . 

99- يعتبر كل ما ياتى قوة دالفعة (اوسيلاتورز ) ما عدا :

ا) خط التقدم/ التراجع . 

ب) مؤشر القوة النسبية .

ج) الستواستك.

د) الماكد.

100-اى من الاتى  يعتبر مثالا لفلترة نموزج الشمعة اليابانية : 

ا) قبول النمازج التى تتناس التحديد الصحيح . 

ب) قبول النمازج التى المؤكد عليها من الاتجاه المتوسط .

ج)استخدام الاوسيلاتورز لتعزيز القدرة التانبؤية للنمازج .

د) استخدام خطوط الترند لتاكيد وجود النتمازج . 

101- اى من الادوات يمكن استخدامها فى فلترة نموزج الشمعة : 

ا) الستوكاستك – الماكد – المتوسطات المتحركة – الحجم . 

ب) ويليامز ار – الار اس اى – تحليل الترند – انعكاسات ال3 صناديق . 

ج) سى سى اى- الماكد – الار اس اى – ا دى اكس. 

د) ستوكاستك – ماكد-الار اس اى – نظرية داو . 

102- فى تحليل سهم باستخدام شارت يومى من الافضل استخدام : 

ا) مدة زمنية بين ست وتسع شهور. 

ب) مدة زمنة بين 12 و 15 شهر . 

ج) مدة زمنية بين 16 و 20 شهر . 

د) بيانات مدة زمنة اكثر من عامين . 
103- سمة الحياة المحدودة للعقود توجد بعض المشاكل لمتاجرى المستقليات والتى لا يواجهها متاجرو الاسهم وهذا بسبب : 

ا) شدة التقلب التى ترتبط اسواق المستقبليات والتى تؤدى الى الكثير من (---)  ب) ان عقود متوسات المستقبليات لها حياة تجارية حوالى عام ونتصف فقط. 

ج) ان اسواق المستقبليات عادة اكثر مخاطرة من اسواق الاسهم . 

د) اوب . 

ه) ا ب ج . 

104-اى من الجمل الاتية يعتر صحيحا : 

ا) الامر المسق فى تحليل التشارت هو ان تبدا مع المدى الطويل والعمل تدريجيا علىىالمدى القريب . 

ب) تشارتات المدى القريب لا تعنى بالاغراض التجاريه .

ج) احد اسالي الربط بين عقود المستقليات هو توفير الاستمرارية استخدامن سعر اقررر تاريخ انتهاء عقد . 

د) لا تظهعر المثلثات فى تشارتات طويلة المدى بسبب ططيعتها قصيرة المدى .    
أسئلة قواعد السلوك الأخلاقي ( code of ethics )
ثماني اسئلة ( هام جداً )
تستنتج تحقيقات السلوك الأخلاقي الخاصة بجمعية المحللين الفنيين أن العضو المدعى عليه يكون بريء تثبت حتى تثبت إدانته، ويتم عرض الشكوى على وكالة الولاية وهي تقرر أن المدعى عليه مذنب.
أ ) صحيح.
ب ) خاطئ.
" جان جو " عضوة في جمعية المحللين الفنيين والمدير التنفيذي لشركة تداول استثمارية . وقد سمحت بإستخدام دليل الجمعية وارساله في ايميلات للترويج لكتابها.
أ ) صحيح
ب ) خاطئ
من المقبول للأعضاء أن يقوموا بنشر وجهات نظر فنية لسلوك سعر الورقة المالية في المستقبل والتي تعكس معرفتهم المسبقة.
أ ) صحيح.
ب ) خاطئ.
من الممكن أن يكتب الأعضاء سجلات تتعلق بوسائل جديدة في التحليل الفني. أما تقديم بعض التعديلات على المبادئ الأساسية فلا بد أن يكون موثق بالكامل.
أ ) صحيح 
ب ) خاطئ
يتم تقديم أي طريقة امتلاكية جديدة ( طريقة خاصة ) في التحليل الفني عن طريق العضو ، وليس من الضروري أن تكون هذه الطريقة موثقة بالكامل أو مدعمة لأن المعلومات تعتبر ملكية خاصة.
1) صحيح.
2)  خاطئ.
في أي مجادلة فنية يقلل فيها عضو الجمعية من أهمية رأي الطرف الأخر ، يكون ذلك اختراقاً للقواعد السلوكية.
1) صحيح
2) خاطئ
يسمح للأعضاء بالعمل وفقاً لمعلومات غير عامة
1) صحيح
2) خاطئ
يكتب عضو ما يقال يتضمن العمل الأصلي لمؤلف متوفي، حينها يحتاج العضو إلى الحصول على إذن من مالك ما نشره هذا الكاتب الأصلي.
1) صحيح
2) خاطئ

 
 
